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235 FHHTHIEAK 7 —/L (50m) 1/4
WA ;202443 16H (+)~3H17H (H)
No. 25 Z+ 100m BHE A LL—RRE
L mEELE >
B KK £ 7K B iclE
1 AR W Ty NIV =3 9/ 4 59.57 9%k ( 0.78)
Ak
28. 85
2 4+H Hi GRS S 13 9/ 3 59. 61 9% ( 0.62)
28.59 A%&
3 M A M 4 LA 9 9/ 6 1&:00.18 108 ( 0.57)
A¥
29. 01 i
4 HH A Jvrsy A2 3 9/ 7 1:01.59 9%% ( 0.61)
Ak
29. 50
5 il ZRJE TS SsH)l 12 9/ 8 1:01.66 9% ( 0.64)
Af
30. 00 f&
6 HFil  EEfl AITEISC M1 7/ 5 1:01.69 9% ( 0.62)
Ak
29. 06
7 EHE EE K LVEEHH = 8/ 4 1:02.68 8% (0.72)
Ak
30. 06
8 5 P KL#EFHH 12 8/ 7 1&:02.71 8f% ( 0.68)
N
30. 08
9 fHitjm AL X iESC 12 8/ 2 1:02.72 8f% ( 0.66)
Ak
30. 29
9 E&E A 1toSWIM H2 8/ 3 1:02.72 8tk ( 0.64)
A
30. 58 s
11 H#HE A J S SHJI 3 9/ 2 1:02.85 S8t ( 0.67)
30. 22 A%&
12 Ak FHH AHRES C 3 8/ 5  1:03.04 8% ( 0.73)
Atk
30. 84
13 /K A% 7 HERERS S 13 6/ 1 1 &:03. 50 S8 ( 0.65)
A
30. 60 "
14 J& 21 =% Y 1 7/ 4 1:03.95 8tk ( 0.74)
Ak
30. 68
15 Al 264G VT —FE ] 7/ 1 1:03.97 St (0.71)
Ak
30. 75
16 oK RET- HHS C 13 9/ 1 1&:04. 05 7#% ( 0.66)
A%
30. 97 "
17 N Z45S = IR = 8/ 1 1:04.14 T#%  (0.73)
31.62 A%&
18 5 %A Wk AB i1 5/ 3 1:04.37 8% ( 0.66)
31. 10 A%&
19 Pl 70 1toSWIM =) 8/ 6 1:04.55 T (0. 69)
Ak
30. 86

HAOBRME: 3H16H 13:48



ASCAt® VI V¥ /N ABCHKIKBRE KRS

24 FHHHIEA T — 1 (50m) 2/4
WA ;202443 16H (+)~3H17H (H)
No. 25 Z+ 100m BHE A LL—RRE
L mEELE >
B K £ 7K B iclE
20 Ji YAAE = AN = H13 7/ 8 1&:04. 62 7% ( 0.69)
A¥
31. 14 i
21 HLH EEE vy A2 2 6/ 2 1:04.68 8#% ( 0.67)
Ak
30. 99
22 ok IKFEF AV H2 6/ 3 1:04.84 7#%  ( 0.64)
A
30.78 f&
23 1o fE+ gt S S =2 8/ 8 1:04.86 7% ( 0.69)
30. 68 A%&
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A
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27 BaA  fEEE K L% H &l 5/ 7 1:05.62 % (0.77)
Atk
31.33
28 B ERSE KL#&FHH 12 5/ 4 1:05.70 % (0.61)
Ak
31.52
29 faA Epd JSS—%& 1 6/ 6 1:05.94 8%k ( 0.75)
31. 36 A%&
30 EHIO Y E— N i1 7/ 6 1:06. 16 % (0.73)
Ak
31.44
31 W FR X8RS SEA H2 6/ 4 1:06.65 7#%  ( 0.76)
Ak
31.93
32 IRf bR FEIRS S H12 6/ 7 1&:06. 66 % (0.75)
A
31.80
33 HH S MY S 4 “#b% M1 5/ 1 1:06.91 % (0.77)
Ak
31. 89
34 )IE Fjk WWAYE-JEE:: =g 3/ 2 1&:07. 32 65% ( 0.78)
A
32. 41
34 {FHIK i 4EkS SHEA ] 4/ 3 £0132 7%  (0.71)
A%
31. 58 i
36 K EM vty 22 1 5/ 8 1:07.45 7% ( 0.63)
Ak
32. 33 g
37 & EA3 AT AT ] 7/ 7 1:07.56 7% (0.78)
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Ak
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33.75
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Atk
33. 21
44 T HFER JSSEHE Ml 4/ 5 1&:09. 05 6% ( 0.78)
A%
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Ak
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Atk
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Ak
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Atk
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Ak
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A
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Ak
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A
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B
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34. 81
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34. 91
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36. 25
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